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Instructions..  (i)     Candidates are required to answer all questions.

(ii)    Question No.1 (one) is compulsory and is Of objective type.

(iii)   Question No. 1 (one) has 20 gTwerty) question carrying 2 prwo) marks each.
(iv)   Question No.  2  to  6  are  Of descriptive  nature  &  answers  should  not

exceed 5do-600 words.

(v)    Question No. 2 to 6 are of equal value carrying 32 (Thirty two) marks each.

(i)    3mEleff#thg#.*aEIT aRE8 I
tiij   ruin 1  (TlqT) erflwiawiqTgit89qTrTqTTa I

(tii)  th in 1  (Tiro) # 2d (rfkT) gFi g I gFaqi gFi 2 (*) aiqi qFT a I

(iv)  pFi in 2 5 6 T^aq{titlHri i fth 3FiT 500.600 FT5# 5 de 7 # I
(v)    Far wi 2 a 6 * enfi FFff * qFT qTrqT S FTqT FF5q; FFi 32 (wi) wi

)

iFT€  I

1.       Compulsory Question (erfffiT¥F) :

(I)     The Atmosphere is held.to the Earth by
(A)    Wind
(C)    Clouds

(A)   FT

(8)    Gravity
(D)    Earth's Magnetic field

SgT{Tgivchichqltmuifinfflan%i
(8)   ,J®ti]ich

(C)   qTF
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(2)     A stone resting onthe table has

(A)    Kinetic Energy

(C)    Potential Energy

(3)

(8)    Gravitational Energy

(D)    None of these

qF;a5q{qFqfq{iat"aeITSfin¥aqqTcaaTt7

tAj  Trfto ed                             tBFFeded
tc>  faced                            tD]  rfaatTti

Whichofthegivenistheultimatesourceofenergy?

(A)    Fossil fuel

(C)    Uranium

firEaqirenedfflq{q(qTH)dr%3

(A)  irmtr
(c)  giv

(4)     Formulaofureais -

(A)    HN-C02-NH

(C)    H3N-CO-NH3

ft±figivfflHrfuedi
.(A)    HN-C02-NH

(C)    H3N-CO-NH3

(5)     GolgiBodyhelps in :

(A)    Excretion ofsteroids

(C)    Translation
TffiffiHgived%:

tA>  aea5edfi
(c)  Frfuti
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(8)    Water

(D)    Sun

(8)   qffl

(D)   tri

(8)    KCNO

(D)    H2N-CO-NH2

(8)    KCNO

(D)    H2N,-CO-NH2
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(8)    Storage and secretion of substances

(D)    Transcription

tB>  qana;dsri-i
(D)   FFTfrfuE
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(6)     In the experiment ofstanley Miller the left out products were :

(A)    Amino acids

(C)    Acetic acids

tanfin*wh#*aqutS:
(A)   ffiqfuqu
(c)  catiky .

(7)     Mendel is called the father of:

(A)    Taxonomy

(C)    Palaeobotany

faq}finq5Fm€:
tA>  aREffl
tc]   ifealtwhffl

(8)     Thyroxin is secreted by :

(A)    Thyroid gland

(C)    Hypothalamus

qiFffirfurfudra:
(A)   qiingrifaan(c) -an

(8)    Nucleotides

(D)    Oxalo acetic acids

(8)   #chETEqu
tD>   tiTREgiv qfaqu

(8)    Genetics

(D)    None of the above

tB>   aifeqFT

(D)  #a#ra

(8)    Thymus gland

(D)    Pituitary gland

(8)   qurifuan
(D)   thHrfuan

(9)     Region.receiving 500-1000 mm annual rainfall is called

(A)    Humid                                                      (8)    Arid

(C)     Semi-arid                                                    (D).Temperate

qEchqET®5oo-iooofiREifewhTtTdr%,q5genm€:

(A)   |F                                                        (8)   gng;

tc>   at-¥tE                                      tD>   ffiin
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(10)   Minimum rainfall amount considered as rainy days is

(A)     1.5mm                                                         (8)    2.5inm

(C)     1.Omm                                                             (D)     2.Omm

q5whndft]fia5qa5qfffirdanrfu7
(A)   1.5ffirfu                                    (8)   2.5ftrRE

(c)    1.Offirfu                                    (D]   2.OfiRE

(11)   The gas contributing major role in global warming

(A)    Carbon dioxide

(C)    Nitrous oxide

aifachfififfrofaift3THffl€7
(A)  whse-erie
(C)  RTeris

(8)    Ozone

(D)    Methane

(8)   3ffi
(D)  fth

(12)   Medium range weather forecast issued by IMD is for

(A)     1:2days                                                     (8)    2-7days

(C)     10-15 days                                                 (D)    Noneofthese

vilathfinIrITutmaattintrifl3Trfu%
tA]    ia2ftr                                          @]   2a7ft]

tc>   ioai5ftr                                 tD>  #a*TS

(13)   Which one of the following gases is not a natural element of the atmosphere ?

(A)    Chlorofluorocarbon                                (8)    Argon

(C)    Krypton                                                  (D)    Water vapour
fi±REfiarfu-thFqT9FT5afflTT5fhatTE5TS€7

tA>  eddrF5chth                          tB>   wh
(c)  iffi                                      (I))  adam
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(14)   What is the primary agenda of the Kyoto Protocol ?

(A)    Control anthropogenic sources of greenhouse gases.

(8)    Regulate the production of nuclear energy.

(C)    Regulation of hazardous wastes.

(D)    None of the above

irafitarfuifi±ffiHT€7
(A)   7]rmi5Trdi rfu gTca RE a; ffi q} fffi q5IFT

tB>   TTfth ed* 3ffliqch fffi q5{TT

(c)  HalTrq; rferifffi 5I]T
(D)  #a#rf

(15)   Which of the following is a disadvantage of most of the renewable energy sources ?

(A)    High running cost                                    (8)    High waste disposal cost

(C)    Unreliable supply                                     (D)    Highly polluting

aTffu erarq ed ffi ifi ti a fflT at € ?

(A)   traqft5mfflira                          (8)   3a rfeihaa77iiT

tc>   3]rq¥qtli^Iq en#                           tD>   tiiqiteTrm

(16)   Which of the following salts is the main cause of permanent hardness of water ?

(A)   ,Magnesium bicarbonate                         (8)    Magnesium sulphate

(C)    Magnesium carbonate                            (D)    None of the above

r+Hrtlria-a-iathenaauTG]afiendrfuiFTgzHq5TluT%7

(A)   a7th qlsq),qli¢

tc>  rfuq5Tife
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(17)   Which of the following is not an example of successful applications of biotechnology ?

(A)    Dolly sheep                                            (a)    Human Growth Hormone

(C)    Graphene sheet                                      (D)    Bt cotton
finSathenrfuffl`T-ffi±HtFawhq5Tq53=TgruTTff€7

tA>   ffing                                          q3>   gr3heTrfu

(c)  rfuife                                 (D>  REfa

(18)   Deficiency of which vitamin is related to the blindness in young children ?

(A)    VitaminK                                                (8)    VitaminA                  .

(C)    VitaminE                                                 (D)    VitaminD
ffufanE@didiffi*aihaaHFrfu€3
tA>   fun.K                                      tB>   farfu.A
tc>   farfu.E                                            tD>   f±Trfu.D

(19)   Geostationary satellite GSAT-6A  launched by ISRO  on 29th March,  2018  is mainly
used for

(A)    Communication                                       (a)    Agriculture mapping

(C)    Remote sensing                                         (D)    Surveillance

IsRogitT29nd,2Oi8q}Tungiv3qngGSAT-6AIr:whaaT€:

(A)    infi                                                    (8)    5f*IIT:;::if±rmS

tc)   ftdethfi                               (D>  rm¥ (ndapfi)

(20)   The main cause of pandemic named Corona Virus disease (COVID-19) is

(A)    SARS-COV'-l virus                                (8)    SARS-COV-2 vius

(C)     SARS-COV-3 virus                                (D)    All of the above

thimtarm(COVID-19)]iTffiaisFutffl3igr5i{uT%:

(A)    SARS-CoV-1 Ema{H                              (8)    SARS-CoV-2 qlq{p

(c)    sARs-cov-3 qiqm                          (D)   3qhaenft

CCSME21 (19)
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2.       What do you mean by unit? Define MKS, CGs and sl system of units. What are the
characteristics of a Standard Unit ? Write the advantages of the SI system.

ed a am fflT nd ¥ 7 i5TE5i d} MKs, cGs 3fu sl nd ch rfurfu fi I qF;
m5edrfufafro.fflT¥7s.I.nd3anTfapi

OFV3Tqm

State and explain the laws that explained the relative position of earth with sun. What

do you understand by an eclipse and how does it take place ? Draw neat and.clean

diagram of Solar eclipse and explain the five ways to view Solar eclipse safely.

ed*eneTgivifiwheniaeifliFicaTedndfffichfrm3irHqarEqiHEUTa
3m qqT nd ¥ 3it qg aid rfu dr a 7 ed HguT 5T H5 Sit H" fha a]i=q 3ir S

grRTiRTaaea;ffiifeaaTiqi

32

3.       What are essential amino acids? Why are they necessary for the maintenance of health?   32

ama¥qiFaffi3fflfflT€7aeda5©a;ftqfi3hiTRE¥7
0RI3Tan

What are Vitamins ? Describe three dis.eases caused by Vitamin deficiency.

farfuqqT¥7irathdtFTrfuffiq5Twhedchiarfufichaan¥i

4.       What  are  the  different  methods  of rainwater  harvesting  generally  adopted  by  the

farmers  of  Jharkhand  State  ?  How  is  it  beneficial  in  improving  the  agriculture

production ?
FTds ITEq a5 fffi gilt amdr q{ art ch an rd qF ch i@ fffi fRE fflT

t

%7qg5fa3ffliq¥g€ma;fdrardwh%7.
ORI3Twh

Give your coricept on waste land. What ineasures you will suggest for its reclamation

and its potential use in Agroforestry ?

in `st VI aRE a]atmuTT i I ida; gril aft qu ffi fi ed un ch a ftr
an rm an giv I
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5.       What are the causes and consequences of acid rains and desertification?

aTrfu rd aft ue7fro a; qqT 5iluT aft th ¥ 7

Marks
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oRI3rrm

Describe the salient features of Forest (Conservation) Act,  1980 and the amendments

made to it.

lid(chrm)aTfrm,i980d}grREafr3HSfi5qTrqriwh7iifflwhapi

6.       Differentiate  between renewable  and non-renewable  energy.  Explain the  process  of
energy generatibn from any two renewable energy soinrces.

caq qq ercaq ed en ftte ap I fca a ercaq ed ffi a ed all rfu rfu ul
ffi ap I

0R/arm

What is HIV ? How does  it affect human body ?  Write  causes,  effects and control
methods of HIV infection.

Hlv fflT a ? qg ae T]rm wh ch mTTfro q5IaT a 7 Hlv ch * 5iloT, rmra a ffro

a; rfu frm I
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